### LOW ENERGY HIGH RESOLUTION COLLIMATOR 
/gate/SPECThead/daughters/name collimator
/gate/SPECThead/daughters/insert box 
/gate/collimator/geometry/setXLength 59.1 cm
/gate/collimator/geometry/setYLength 44.5 cm
/gate/collimator/geometry/setZLength 4.0 cm
/gate/collimator/placement/setTranslation 0. 0. -3.8 cm
/gate/collimator/setMaterial Air
/gate/collimator/attachPhantomSD
/gate/collimator/vis/forceWireframe
/gate/collimator/vis/setColor white
## Insert upper boundary of hole
/gate/collimator/daughters/name hole
/gate/collimator/daughters/insert box
/gate/hole/geometry/setXLength 0.17 cm
/gate/hole/geometry/setYLength 0.17 cm
/gate/hole/geometry/setZLength 0.02 cm
/gate/hole/placement/setTranslation 0. 0. 0. cm
/gate/hole/setMaterial Lead
/gate/hole/vis/forceWireframe
/gate/hole/vis/setColor blue
## Insert lower boundary of hole
/gate/hole/daughters/name lowerB
/gate/hole/daughters/insert box
/gate/lowerB/geometry/setXLength 0.15 cm
/gate/lowerB/geometry/setYLength 0.15 cm
/gate/lowerB/geometry/setZLength 0.02 cm
/gate/lowerB/placement/setTranslation 0. 0. 0. cm
/gate/lowerB/setMaterial Air
/gate/lowerB/vis/forceWireframe
/gate/lowerB/vis/setColor green 
 ##FILL THE WHOLE COLLIMATOR WITH SEPTA-HOLE
/gate/hole/repeaters/insert cubicArray
/gate/hole/cubicArray/setRepeatNumberX 347
/gate/hole/cubicArray/setRepeatNumberY 261
/gate/hole/cubicArray/setRepeatNumberZ 100
/gate/hole/cubicArray/setRepeatVector 0.17 0.17 0.04 cm

The square hole side length is 0.15 cm and septa size is 0.02 cm, so the vector size setRepeatVector X  and Y will be 0.15+0.02=0.17 across axis and y axis. For z value, collimator length across z is 0.02 and the gap is also 0.02, so the total will be 0.04, hence setRepeatVector across z will be 0.04 cm.
I calculated the setRepeatNumberX as ->  collimator XLength/(repeatVector size along x-axis)=59.1/0.17=347
Similarly, setRepeatNumberY ->collimator YLength/(repeatVector size along y-axis)=44.5/0.17=261
and, setRepeatNumberZ ->collimator (ZLength)/(repeatVector size along z-axis)=4/0.04=100
I designed the collimator as mentioned above but my simulation stuck at Initialization of geometry , you can see below screenshot. Where the problem can be? Thanks for your cooperation
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[Physic-0] The following Geantd's physic-list is enabled :emstandard_opt4
icore—e] Initialization of geometry





